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(1) (x=5)"—(x+2)(x-2)
=X —2x5xX+5"—(x*-2%)
=x*—10x+25—(x*—4)
=Xx*-10x+25-x"+4
=-10x+29

(2) (x—4)(x+2)—(Bx+1D)(3x—3)
=X* + (=4 + 2)x+ (-4) x 2 {(3%)* + (1-3)3x +1x (-3)}
=x* —2Xx—8—(9x* —6x—3)
=X —2Xx—-8-9x*+6X+3
=—8x*+4x-5

(3) 9(a—4)? - (3a—23)?
=9(a’ —2x4xa+4%)-{(3a)’ -2x3x3a+3}
=9(a*-8a+16)—(9a° —18a+9)
=0a’-72a+144-9a°+18a-9
=_54a+135

(4) (a—b—4)?
— a—b=A&HL
= (A-4)°
=A’-8A+16
_(a—h)?—8(a—b)+16
=a’—-2ab+b*-8a+8b+16

(5) (x-y+2)(x-y-3)

— x—y=A &8L
=(A+2)(A-3)
=A’+(2-3)A+2x(=3)
=A’-A-6
=(x=y)’ —(x-y)-6
=X —2Xy+ Yy —X+Yy—6
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